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Major Paper V — DIFFERENTIAL EQUATIONS AND LAPLACE TRANSFORMS
Time : 3 hours	    Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)
Answer any TEN questions.
1. Solve y = p sinp +cos p.
2. Write Clairaut’s Equation.
3. 
Slove .
4. 
Solve 
5. 
Form the differential Equation by eliminating the arbitrary function f from .
6. Solve p+q = sinx + siny.
7. Solve x2p+y2q = z2
8. 
Find 
9. 
Find    .
10. 
Write down the value of .
11. 
Transform the differential equation into Laplace equation .
12. Write it in Laplace Transform equation.

       
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.
13. 
Solve 
14. 
Solve 
15. 
Solve  
16. 
Solve .
17. 
Find .

18. 
Find the inverse Laplace transform of 
19. 
Solve   using Laplace transforms.	
 (
[P.T.O.]
)
SECTION C — (3 × 10 = 30 marks)
Answer any THREE questions.
20. 
Solve 
21. 
Solve 
22. 
Solve .
23. 
Find the Laplace inverse of 
24. Using Laplace Transform solve:
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